Train Time Worksheet - Answers

1. 12:53
2. 19:48

3. Journey A = 3 hours and 49 minutes
Journey A = 2 hours and 57 minutes

Difference in time = 52 minutes

4. Journey AorB
Journey A =1 hour and 14 minutes

Journey B = 32 minutes

5. 1 hour and 37 minutes

6. 2 stations

7.
Destination Journey D Journey E Journey F
London 21:52 23:12 04:18
Derby 23:37 00:18 05:43
Sheffield 00:13 00:43 06:02
York 00:51 01:33 06:49
Newcastle 01:41 02:09 07:23
D i 3 hours and 2 hours and 3 hours
uratton 49 minutes 55 minutes and 5 minutes

8. Accept any reasonable answer
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